=LFDb

3UDFRZQLN 5RINGDG  g0€]DN -DQXVINR _DPLD 7\J

7N 7N
o .
ol 1XIIHQRPIND GICIDN | | . AQIFJQN JDU\V FKRIYEG
-DQXVINR -DPUD$% | [I6]DN -DQXVINR .DPUD
-/ = $ -/ &
7N
SDGLRIRILD GIC]DN -DQXVINR - DPUDS% 3/ =
=z
I 7N
4 $QDIRPLD GICIDN -DQXVINR . DPUDS
N &6 3UDFRZQD SIHICIQDMIZD 3
/
ZMJRGQIX  DICFID GR JRG]IQ\
7N 7N
o
o}
x LIQIF]Q\ TDUNV FKRUYEQ LIQFIQ\ DUV FKRUYEQ
2 ICIDN -DQXVINR - DPUD IC]DN -DQXVINR - DPUD
$ ARE $ A
—_
o3
% 7\J
&KIXUID §IC]DN ~DQXVINR . DPUDS 3/ =
7\G] 7\G]
-LQIFIQ\ TDA\V FKRIYEGICTON -LQIFIQ\ TDAAV FKRIYE GICTON
“DQXVINR .DPUD$ "5 “DQXVINR .DPUD$ "5
A &
? 7\G]
] 1XILIHQRPIND gOC]DN -DOXVINR
% .DPUD $ :
7\G]
LXILIHQRPIND GICTON -DOXVINR
_DPUD $% 5
7\G] 7\G] 7\G] 7\G]
_IQFIQ\ JDU\V FKRUYE LXLIHORPIND €] DN -DOXVINR _UQIFTQ\ TDU\V FKRUYE _UQIFTQ\ TDUNV FKRUYE
ICIDN -DQXVINR - DPUD _DPID $ B 0C]DN -DQXVINR - DPUD 0C]DN -DQXVINR - DPUD
$ "5 = $ "5 & $ "5 &
a 7\G] 7\G]
(=3
T 7] _UQIFTQ\ TDU\V FKRUYE _IQFIQ\ JDU\V FKRUYE 7\6]
= LIQIF]Q\ TDUNV FKRUYEQ IC]DN -DQXVINR - DPUD ICIDN -DQXVINR - DPUD LIQFIQ\ DUV FKRUYEQ
e ICIDN -DQXVINR - DPUD $ "5 $ "5 & IC]DN -DQXVINR - DPUD
o $ "5 = $ "5 &
7\G] 7\G]
-MQIFTQ\ DU\ FKRUYEQ -LQIFTQ\ JDU\V FKRIYEQ Gl
IC]DN -DQXVINR - DPUD ICIDN -DQXVINR - DPUD LIQIF]Q\ TDU\V FKRIYEG

$ "5 & $ "5 -

ICIDN -DQXVINR -DPLD
$ "5 &




=LFDb
3UDFRZQLN 5RINGDG  g0€]DN -DQXVINR _DPLD 7\J

QLHG]LHOD

7\G] 7\G]
-NQIFJQ\ JDUNV FKRUYEQ -IQIFIQ\ JDUNV FKRUYE GICTDN
ICIDN -DQXVINR .DPIUD -DQXVINR .DPIUD$ -5
$ "5 - &
7\6] 7\6]
-UQIF1Q\ JDUNV FKRUYEG -ILQLF]Q\ JDU\V FKRUYEGICIDN
IC]DN -DQXVINR .DPLID -DQXVINR .DPUD $ "5 z
$ "5 z | |




